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Total questions : 100 Total marks : 100

1) Which of the following is the first published Novel of Kazi Nazrul Islam?

1) Mukti

2) Agnibeena

v 3) Badhon Hara
4) Jinge Ful

2) * RIpS! #MPIeat * 2B ol

4) Which one is the High-Level Programming language?

1) MS PowerPoint

)
2) MS Windows 10
v 3) Python
4) MySQL

5) "SPS TSN TS B G- IFIHCO @1 T TCZ?

SFHIA!

6) Which of the following is the antonym of the word DISPARATE?

v 1) Homogeneous



2) Cumulative
3) Invariable
4) Cooperative

7) Two small circular parks of diameter 16 meter and 12 meter are to be
replaced by a bigger circular park. What would be the radius of this new
park, if the new park has to occupy the same space as the two small parks?

1
2
v 3
4

) 20 meter

) 15 meter

) 10 meter

) 100 meter

8) Complete the sentence 'Had | known in advance, | ... enough preparation’
choosing from the given options.

1) Would take

v 2) would have taken
3) took
4) will take

9) The average of 10 numbers is 40.2. Later it is found that two numbers
have been wrongly added. The first one is 18 greater than the actual number
and the second number added is 13 instead of 33. Find the correct average -

10) M is older than N but younger than O. If m, n and o are the ages of M, N
and O respectively, then which of the following is true?

1
v 2
3
4

m< n< o
n<m<o
O<n<m
O<m<n

)
)
)
)

11) * TR 3T QA I, BRI I A IfeT 105 fgea < =i 6 e Iems 2z ?

v 1) Ie1d
2) fddmoe I8
3) oISt



4) IO

12) The difference between the length and breadth of a rectangle is 23
meter. If its perimeter is 206 meter, then, its area is -

1) 1520 sq meter
2) 2420 sq meter
3) 2480 sq meter
v 4) 2520 sq meter

13) A hundred-years-old man is called -

1
v 2
3
4

Centurion
Centenarian
Silver Man
Golden Man

~— N N S

14) For millions of years, which of the following has not changed much due
to evolution?

1) Whale
v 2) Shark
3) Dinosaur
4) Hippopotamus

15) At idiom 'At stake' means-

At risk

In dilemma

Creating doubt

At the happiest moment

vl
2
3
4

N— N N N

16) Pick appropriate word from the following to complete the sentence The
spellings of many old English words have been ... in the living language,
although their pronunciations have changed?

1
2
v 3
4

shortened
improved
preserved
revised

)
)
)
)



17) "SR ICAPMA' ATHP THT PIRAR 6 RIOT @72

18) Which one is the Strongest Password?

1
v 2
3
4

Amin 1234

$ 4Rr # 345we # Jan21$
$Aminur Rahman$
#Abdullah#BB#Dhaka#

~— N N S

19) A passenger paid 50 % customs duty on accompanied baggage. items.
He paid another 20 % sales tax on the total value of the items plus the
custom duty paid. The total custom duty and sales tax is Tk. 350. what is the
value of the item custom duty and sales tax?

1) Tk. 400
2) Tk. 450
3) Tk. 500
v 4) None of these

20) Which device is mainly related to provide security of a network?

1
v 2
3
4

Router

Firewall

Switch

Operating System

N— N N N

21) Which of the following preposition completes the sentence 'Although
ballet and modern dance are both concerned ... the movement in space,
training for ballet is more rigorous than that for modern dance?

22) Select the term that contrasts FREQUENCY
1) Unity



v 2) Rarity
3) Gradualness
4) Persistency

23) Which of the following word is plural?

v 1) Anybody
2) Nobody
3) Each
4) someone

24) An amount of money is invested in a savings account for two years. It
increased by Tk. 52.50 in two years. After annual compounding at the rate of
10 % per year. What is the amount invested initially?

1) Tk. 400
2) Tk. 300
v 3) Tk. 250
4) Tk. 200

25) Which of the following agreement is related to Intellectual Property?

TRIPS
AGN
AGTC
AGR

vl
2
3
4

N— N N

26) * R0 *1 RAIO1P <19 (P1ab?

1) WIRk®
2) 3K

)
)
) faqo
)

w

<N\
<INO
O

v 4) "o

27) COP-26 is related to

1
v 2
3
4

Global trade & commerce
Global climate change

Poverty alleviation
Coproduction of COVID vaccine

S— N N N

28) In a certain population group, 57 % of the people have characteristics, X
and 63 % have characteristics Y. If every person in the group has at lest one



of the two characteristics, then what percent of the people have both X and
Y?

vl
2
3
4

) 20%
) 10%
) 12%
) 6%

29) “All parties state language movement committee" was formed on

1) 18 February, 1952

2) 20 February, 1952

3) 2 February, 1952
v 4) 31 January, 1952

~— N N S

30) Who was the first governor of Bangladesh Bank?

v 1) ANM Hamidullah
2) Md. Nurul Islam
3) Khorshed Alam
4) Shegufta Bakht Chowdhury

31) Which of the following ecosystem covers the largest area of the earth's
surface?

1) Desert Ecosystem

2) Grassland Ecosystem

3) Mountain Ecosystem
v 4) Marine Ecosystem

33) Which one of the following spelling is correct?

v 1) Fascinating
2) Fasinating
3) Facinating

4) Facsinating



34) Milk is poor source of

1
2
v 3
4

Vitamins
Protein
Iron
Calcium

~— N N S

35) Who is the person of the year of Time magazine in 20217

1) Biz Stone
2) Mark Zuckerberg
3) Bill Gates

v 4) Elon Musk

36) One Tera Byte equal to how many bytes?

1) 103 Bytes

2) 10° Bytes
3) 10° Bytes

v 4) 1012 Bytes

37) Which one is Utility Software?

1) MS Word
v 2) Win-Zip
3) Firefox
4) Facebook

38) '(UMI + W' (1T ATR?

1) T B0 2o
2) SFO PR AOR
3) A1 PR AOR

v 4) oG efoR

39) Chose the indirect speech of- Hasan said, 'Let me have some rice'

1) Hasan said that he wanted some rice
v 2) Hasan wished that he might have some rice
3) Hasan prayed that he might have some rice
4) Hasan suggested to have some rice



40) Which of the following resembles ARTICULATE: SPEECH?

v
2
3
4

Coordinated: Movement
Predictable : Event
Dangerous Disease
Active : thought

~— N N S

41) Choose the appropriate preposition to complete the sentence'
Unfortunately, we had to cancel it owing ... the bad weather.
1) in
2) for
3) of
v 4) to

42) A merchant has 1000 kg of sugar, part of which he sells at 8 % and the
remaining at 18 % profit. He gains 14 % on the whole. Find the quantity of
sugar that he sold at 18 % profit.

43) What is the literacy rate of Bangladesh as per the first Digital Population
and Housing Census, 20227

v 1) 74.66 %
2) 73.65 %
3) 75.66 %
4) 66.74 %

44) A square room has a square carpet symmetrically placed in it. This leaves
an uncovered area of 9 meter?. The area of the whole room is 25 meter2.
What is the length of the one side of the carpet?

1) 2 meter
v 2) 4 meter
3) 6 meter
4) 8 meter



45) ‘T3 FIR Tl * ] I SPIOA 52

46) Which of the following words substitute the sentence 'A remedy for all
diseases'?

1) Drug

v 2) Panacea
3) Antiseptic
4) Cure

47) On a 2 km road, a total of 201 trees are planted on the side of the road
at equal distance. How many such trees will be planed on a 50 km road such
that the distance between two consecutive trees is the same as that of the
consecutive trees on the 2k.m road?

1) 501
v 2) 5001

3) 5000

4) 1000

48) If a: b=4:7 and b: c = 5: 6 thana: b: c =?

1)

v 2) 20 35 42
3) 20:35:24
4)

9) ‘SR = R o ==t 52

P
F
A
4
2
4
&
g
2
1



3) <Y
4) 5%

51) Blue tooth technology uses -

1) Infrared
2) Microwave
v 3) Radio wave
)

4) Laser Light

52) Which country lost to Bangladesh in the SAFF Women's Football Final
20227

1
2
v 3
4

India

Sri Lanka
Nepal
Maldives

)
)
)
)

53) Identify the singular form of the word ALAMNI form the following options?

1
v 2
3
4

Alumni
Alumnus
Alumnae
None of these

~— N S S

54) @TAID" PHIIGd TR NRGF F?

55) Phishing Attack is related to

1) False Website

v 2) False E-mail
3) Pirated Software
4) Faulty Network



56) If the numerator of a fraction is increased by 2 and the denominator by 1
it becomes 1 Again, if the numerator decreased by 4 and the denominator 2
it becomes 1/2. Find the fraction.

1)4/5
2) 5/6
3) 6/7
v 4)7/8

57) (T TIOR *I T I IR = 12

1) SR
2) ©E
v 3) Rkoed
4) FS

58) Identify the correct replacement of the underlined portion of the
sentence 'Most of the students like to read these kind of detective stories for
their supplementary reading.'

1) these kind of detective stories

2) these kind of detective story
v 3) this kind of detective stories

4) this kinds of detective stories

59) The angles of a triangle are in the proportion of 1: 2: 3 and the length of
the smallest side is 1 cm. what is the length of the longest side of the
triangle?

v1)2cm
2)3cm
3)4cm
4) 5 cm
60) If x/ y = 1/3, then the value of (x? + y?)/ (x2-y?) is-
1)-10/9

)
)
) -
) -



61) When will Bangladesh exit from the LDC category?

1) 2024
2) 2025
) 2026
4) 2027

63) Thalasscemia 'is a hereditary disease affecting.

1) Lungs
v 2) Blood

3) Heart

4) Kidney

64) ‘ TRIF "’ *FAioA S Reoew 672

65) The Sveriges Riksbank Prize in Economic Sciences has been introduced in
memory of-

1) Paul Samuelson
v 2) Alfred Nobel

3) Alfred Marshall
4) JM Keynes

66) Pick the right passive form of the sentence 'We must endure what we
cannot cure' form the following.

1
v 2
3
4

What we cure must be endured

What cannot be cured must be endured
What cannot cured must endured

What could be cure must be endured.

S~— N N N



67) Choose the word in which the suffix is used correctly.

v
2
3
4

Digital
Comforted
Nonstop
All of these

~— N N S

68) What is the smallest number of apples that can be distributed equally
(without cutting any apple) among 6,10,14 and 18 boys?

1) 1260

2) 315

3) 360
v 4) 630

69) Which communication media is necessary to access online banking from
a plane or ship?

1) WiFi

2) Optical Fiber

3) Satellite

v 4) Radio Link

70) | sat down', and 'Tears ran down her face'. The word 'down' is used in
these sentences as

1
v 2
3
4

Verb-adverb
Adverb-preposition
Adverb-verb
Preposition-adverb

N— N N N

71) Which of the following is not the official language of the United Nations
Organization?
1) Arabic
2) Chinese
v 3) Portuguese
4) Spanish

72) Which country is cooperating to implement "Bangladesh Delta Plan,
21007

1) Belgium



v 2) Netherland
3) Denmark
4) USA

73) 1T IANSTACS ™, T, 7, T~ I BRILEE BWITIE | TF ' ¥ o 5?2
1) Py

v 2)41
3) =
4) By

74) Elizabeth Il was the Queen of the United Kingdom and other
Commonwealth realms from the year

v 1) 1952
2) 1962
3) 1955
4) 1945

75) Which one is considered as the brain of a computer?

1) Memory
v 2) Processor

3) Hard disk

4) Internet

76) Which of the following is the analogy of ANTIDOTE: POISON?

1
2
3
v 4

Cure: Recovery
Narcotic Sleep
Stimulant: Relapse
Tonic:Lethargy

N— N N N

77) The historic 7¢4 March Speech of Bangabandhu was given at the Ramna
Face Course which is now

1) Bahdur Shah Park
v 2) Suhrawardy Udyan
3) Chandrima Udyan

4) Hatirjheel Park

S— N N N



78) fd @A Frogarofod ave?

79) At a stationary shop, it costs Tk. 185 for 4 gel-pens, 8ball-point pens and
1 marker pen and Tk. 315 for 7 gel-pens, 15 ball-point pens and 1 marker
pen. What would be the cost of 1 gel-pen, 1 ball-point pen and 1 marker
pen?

1) Tk. 45
v 2) Tk. 55
3) Tk. 60
4) Tk. 70

80) (10)2 is how many times of (0.01)3?

1) 10°
2) 10°
3) 10’
v 4) 108

1) IR VAR AYF TR 3P FIFHI (<1 DS A G T 572

1) o
v 2) Riefadia
3) fefcitof
4) Rortra

82) The term MICROSCOPIC is same as

1
2
v3
4

Excessive
Woe
Minute
Irrelevant

N— N N N

83) PAITH' XTTD (PId SASIsTICsT 51730?

v 1) oPT Sorssl
2) Reedt Sorstsl
3) MFO G



4) @TAL3 T

84) 'dfrar a3 2= 5?2
1

) I
2)5fﬁ
v 3) ORI
4) qAmady

85) Choose the correct replacement of the underlined portion of the
sentence. 'lt is not for your to take responsibility,it is rather, me who is the
guilty person in this matter'.

1) me who is

2) me who am
3) I whois
v 4) 1 who am

86) Identify the substitute word for the sentence 'The art of cutting trees and
bushes into ornamental shapes .

1) Horticulture
2) Bonsai
3) Pruning

v 4) Topiary

87) Which of the following file name is valid?

v 1) BB_AD 2022
2) BB_AD 2022
3) BB_AD?2022
4) BB_AD/2022

88) Which of the following word is equivalent to EQUIVOCAL?

1
2
3
v 4

Obstacle
Indolent
lllusory
Ambiguous

~— N N N

89) ‘Double Fault 'is associated with which of the following games?

v 1) Lawn Tennis



2) Cricket
3) Hockey
4) Football

90) A person's present age is two-fifth of the age of his mother. After 8 years,

he will be one-half of the age of his mother. What is the present age of the
mother?

1) 30
2) 35
v 3)40
4) 50

91) “Te1 PLF WK a1 PL3 TS I5S" Q BFN0J I5RTOT 72

92) A student obtained 60, 75 and 85 marks respectively in 3 monthly
examinations in physics and 95 marks in the final examination. The 3
monthly examinations are of equal weithtage whereas the final examination
is weighted twice as much as monthly examination. what is his average mark
in physics?
v 1) 82

2) 85

3) 79

4) 78.75

93) @Td ATTPR ‘It \3 Y& AHTAT 5TARED TUT AU APTHO 37?

94) 5P SR WY 52
1) 35T

2) Bl



3) 12!
v 4) BORA SRPTD

95) Which of the following sentence is correct?

1) | don't like to discuss about politics.
2) | don't like to discuss politics.

v 3) | don't like discussing politics
4) |1 don't discussing politics

96) Mr. X had Tk. 1000 in his savings account. Every month in the first week
he needs money, so he withdraws Tk. 500, but by the end of the month, he
deposits Tk. 750. After how many months, the original amount will grow three
times?

1
2
v 3
4

6 months
7 months
8 months
9 months

)
)
)
)

97) IIRISTRL RIGATEADT "o DR dATHPAT (P IA?

99) Which countries are separated by Mac Mohan Line?

1) India and Pakistan
2) China and Tibet
v 3) India and China
4) India and Bangladesh



100) Identify the word with correct spelling form the following options.

1
2
3

va

Counterfet
Counterfit

Counterfiet
Counterfeit

~— N N S
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